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from Crypto.Cipher import AES
import base64

import time

import gzip

from hashlib import md5

import sys

import io
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def Decrypt(key: , text: :
if (key) 32: key (32 (key))
elif (key) 32: key key[0:32]
cipher = AES.new( (key,encoding ), AES.MODE_CBC, (AES.block_size))
return (gzip.decompress( .strip(cipher.decrypt(base64.b64decode(text)))), encoding

, priv_key):
(id) ( (time.time()))
pub_key prefix + md5( (prefix priv_key, )) .hexdigest()

(id, pub_key))
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print(Decrypt(key
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expression[1] opertor[il]
for i2 in (4):
expression[3] opertor[i2]
for i3 in (4):
expression[5] opertor[i3]
for i4 in (4):
expression[7] opertor[i4]
for i5 in (4):
expression[9] opertor[i5]
for i6 in (4):
expression[11] opertor[i6]
for i7 in (4):
expression[13] opertor[i7]
for i8 in (4):
expression[15] opertor[i8]
if ("'.join(expression))
print('"'.join(expression))

1+2-3-4+5+6-7%8%9
1-2+3+4-5+6-7%8%9
1-2%3%4+5%6-7%8%9
1/2%3%4-5+6-7%8%9

X symbols( )
key solve(Eq(x**5-2*x**¥4+3*x**3-4*x**2-5%x-6, 0),X)

print([N(solution) for solution in key])

key

def Hash(context):
result md5 ( (context,
for i in (0, 10000000) :
result md5(result.digest())
return result.hexdigest()

)
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result =
for i in range(©, 100000000):
key = (8 len(str(i))) str(i)
try:
Decrypt (key,

print( , key)
result = key
break
except:
if(i % 100000 == 0):
print( ykey)

stack = []
_ = [1]
= [0] * 16
code = base64.bb64decode(
while True:




length = ins_len
if length > 1:
arg = code
if length == 2: rl = arg[@] >> 4; r2 = arg[@] & 15
reg[15] length
if @ == ins : break
elif 1 == ins : stack.append(reg )
elif 2 == ins : reg = stack.pop()
elif 3 == ins :
if not reg . reg[15] ins_len
elif 4 == ins : reg 0 if reg
elif
elif

5 ins : reg reg reg

6
elif 7 ins : reg reg reg

8

9

ins : reg reg reg

elif
elif
elif 10 == ins : reg =1 if reg < reg else 0

ins : reg reg reg

ins : reg reg reg
elif 11 == ins : stack.append(reg ); reg int.from_bytes(arg, byteorder= , signed=True)
elif 12 == ins : reg int.from_bytes(arg, byteorder= , signed=True)

ins in (13, 14) : reg = int.from_bytes(arg, byteorder= , signed=True)

str(reg[@])+str(reg[1])
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for byte in code:
hexStr ( (byte))[2:]
codelen

, codelLen)
[0]*16

print( (reg[15]), (code[reg[15]]))
ins, ro code[reg[15]] 4, code[reg[15]] 15
print( , reg[15], , 1ins)

length ins_len[ins]

print( , length)
if length 1:

arg code[reg[15] 1 : reg[15] length]
print( (reg[15] 1, reg[15] length), arg)




if length 2:
rl arg[o] 4; r2
print( , ril,

arg[o] i3
>, 12)

print(
reg[15]
print(

(re), reg[ro])
length
,stack)
, reg)
, ins, ro)

print(

print(

if o ins : break

elif 1 ins
stack.append(reg[ro])
print( , stack)

elif 2 ins
reg[ro]
if roe 0:

count

stack.pop()

print( , stack)
elif 3 ins
print( (re, reg[rel))
if not reg[ro]
reg[15]

print(

ins_len[code[reg[15]] 4]
» reg[15])

print(
elif 4 ins
print(
reg[ro]
elif 5 ins
reg[ro]
print(
elif 6 ins
reg[ro]
print(
elif 7 ins
reg[ro]
print(
elif 8 ins
reg[ro]
print(
elif 9 ins
reg(ro]

, reg[i5])

@ if reg[re] else 1

éeg[rl]
éeg[rl]
éeg[rl]
t.“eg['“l]

reg[ril]

(re), regl[re])

reg[r2]

reg[r2]

(r1,

reg[ro])

reg[ro])

reg[ro])

reg[ro])

print(
elif 10 ins
reg(ro]

(r1, r2), reg[ro])
1 if reg[ril] reg[r2] else ©
print( (re), reg[ro])
elif 11 ins
stack.append(reg[ro])
temp

.from_bytes(arg, byteorder , signed=True)

reg[ro] temp

print( , stack)

print( (re, temp), reg[re])

elif 12 ins
temp

.from_bytes(arg, byteorder , signed=True)

reg[ro] temp
print(
elif ins in (13, 14)

temp

(re, temp), reg[ro])
.from_bytes(arg, byteorder , signed=True)
reg[ro] temp

print( (ro, temp))




(re), regre])
, stack)

, count)

, reg)
, stack)

99999999999999997
127

operation():
reg[4] = reg[@]
reg[5] = reg[1]
reg[4] = reg[4]
reg[4] = reg[4]
temp regl[4]

regl4] reg[o]
reg[5] reg[1]
regl4] regl4]
reg[1] regl4]
reg(o] temp

calculateNum(time):
num 1
[e]
while num time:
temp 0
for i in (num) :
temp [1]
.append(num + temp)
num 1
print( 5 [time])
return [time]
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def operation(x, y):
temp = (3*x + 9*y) % 99999999999999997

y (7*x
X temp

return x,

8*y) 99999999999999997

y

calculateNum(time):

num 1

[e]

while num

temp

time:
0

for i in (num) :

temp [i]

.append(num + temp)

num
print(

return

1
> [time])
[time]

test(time):

X

y

)
6

time = calculateNum(time)
for i in (time):
X, y = operation(x, y)

(x5 y))
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np.array([[3, 9], [7, 8]])
MatrixList [1]
MatrixList.append(MatrixA)

def CreateMatrixList(powerNum):

MatrixB = np.array([[3, 9], [7, 8]])

for i in (powerNum) :
MatrixBoo (MatrixB[@][0])
MatrixBe1l (MatrixB[@][1])
MatrixB10 (MatrixB[1][0])
MatrixB11 (MatrixB[1][1])
tempoo MatrixBee MatrixBee 99999999999999997 MatrixBo1l MatrixB10 99999999999999997
tempol MatrixBee MatrixBe1l 99999999999999997 MatrixBo1l MatrixB11l 99999999999999997
templ0 MatrixB10 MatrixBee 99999999999999997 MatrixB11l MatrixB10 99999999999999997
templl MatrixB10 MatrixBe1l 99999999999999997 MatrixB11l MatrixB11l 99999999999999997
MatrixB np.array([[tempoo, tempol], [templd, templl]]) 99999999999999997

MatrixList.append(MatrixB)

def MatrixOperation(x, y, test):
200 (test[0][0])
a0l (test[0][1])
ale (test[1][@])




all (test[1][1])

temp (200*x7%99999999999999997 201%y7%99999999999999997)7%99999999999999997
y (210*x%99999999999999997 a11%y%99999999999999997)7%99999999999999997

X temp

return X, y

CalculateKey(time):

count calculateNum(time)
CreateMatrixList(time)

X 5

y 6

while count

powerNum (math.log(count, 2))

num (math. (2, powerNum))
print( , powerNum)

if count num:
powerNum 1
num (math. (2, (powerNum)))
if count num:
print(
break
print(
elif count num:
print(
elif count

print(

break
else:

print(

count num
X, Y = MatrixOperation(x, y, MatrixList[powerNum])

print( , count)

print( , nhum)

print( , powerNum)

print( (powerNum), MatrixList[powerNum])
print( (X, y))

print(

CalculateKey(127)
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